
Software Design and Development 2003 :
Multiple Choice Question 8

Question 8

Napster was a peer-to-peer file sharing system that allowed computer users to download music
(MP3) files. It was closed down after a court ruling in the USA.

Which of the following BEST summarises the reason for the closure of Napster?

A It had engaged in illegal outsourcing.
B It had engaged in copyright infringement.
C Peer-to-peer networking breached Beta-testing laws.
D Peer-to-peer networking breached the Software Developers' Code of Conduct.

HSC Statistics on this Question:

This question appeared as Question 8 in HSC Examination 2003

A
B
C
D
N

 Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 8% 7% 5% 1% 0%
B 75% 86% 87% 95% 97%
C 4% 2% 2% 0% 0%
D 13% 6% 6% 4% 3%
N 0% 0% 0% 0% 0%
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The table and graph show, for the groups of students whose marks in the examination
corresponded to the borderline between two bands, what percentages of each group selected the
responses A, B, C and D. N is used to identify: No valid response.
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